17/06/28:
Spiral Galaxies by Serkan Yurekli
Theme: When Will the Solution Be Clear?

Rules: Divide the grid along the indicated lines

into connected regions — “galaxies” — with rota-

tional symmetry. Each cell must belong to one

galaxy, and each galaxy must have exactly one &
circle at its center of rotational symmetry. | | i L
Answer Entry: Enter the number of cellsineach ~ # | Q0 51 .° A FoRmm ko

connected group (between bold lines) in the S - o2 |1
, L O 1 Q
marked rows. Separate each row’s entry from the
next with a comma. The example has the answer
“2131,331".
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